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DAP AN TU LUAN

CAU NOI DUNG PIEM
CAUL [ Q) AB=(04) i 0,5d
(3d) J T 7% T 0,54
b) Dé tir gidc 1a hinh binh hanh 0.5d
< AB=DC < (0;4) =(4-x1-Y)
0=4-x [x=4 0,5
= = c>D(4;—3)
4=1-y y=-3
c) GoiM (x;y) 0,5d
. [x=1+2(x-1)+3(x—4)=0
Taco 0.5d
y—0+2(y-4)+3(y-1)=0 ’
5
6x-15=0 |*73 511
= = SM| = —
6y—-11=0 11 2’6
y==—
6
Cau2 | .y AB+AD=2A0 = AG =~ AB+XAD 0,254
(1d) 2 2
e 1 1 —— 0,25d
BA+BD=ZBI:>BI=EBA+§BD
e TR 0,25d
DA+ DB =2DJ = DJ == DA+Z=DB oo
2 2 0,25d

Suyra

AG+BI+Di=1AB+AD+1BA+1BD+LDA+LDE=0
2 2 2 2 2 2

(dpem)




